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Calculate the following parameters given that I,y = 100nA, C_ = 1pF, M;.40 and M,; have WIL ratios of
10um/1um, and My, are appropriately sized to set the bias voltages for My and My, and have 50nA
flowing through them.

a. Calculate the output resistance.
b. Calculate the small-signal differential voltage gain.
c. Calculate the slew rate.
d. Calculate the power dissipation.
e. Calculate the gain-bandwidth product, assuming that the output pole is the dominant pole.
f. Design the sizes of Mb“{to appropriately bias transistors Mg and M.
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